HRI 3 X[ =

HRI £ 2 51E

3 1=
T = ‘98 & | ‘oo | gE 9/27
9/6 9/20
2l/ere’ 1,204.0 1,138.0 | 1,109.00 | 1,106.50 | 1,124.00 | 1,115.00
/100 1,049.2 1,114.1 | 1,042.10 | 1,042.88 1 1,052.93 | 1,035.76
ghg oll/zef? 114.5 102.1 106.38 105.75 | 106.60 107.68
e Ee/g 1.655 1.612 1.4592 1.4546 | 1.4090 1.4635
T 2/EH - 1.01 0.8932 0.8904 | 0.8505 0.8830
= & (3 )’ 8.0 9.0 7.79 7.70 8.09 8.08
i:l CDO1g) 7.7 7.4 7.05 7.05 7.05 7.05
I(::)/o)l 201¢) 6.6 47 5.11 5.06 5.09 5.02
CP(371 &) 7.9 7.9 711 711 7.11 7.1
=TB((B0H) 5.08 6.44 5.791 5.683 5.846 5.808
ixﬂ EFZ2t ol E 7.75 8.50 9.50 9.50 9.50 9.50
I(::)/il = IA(10) 2.01 1.65 1.87 1.980 1.855 1.875
LIBOR(37H &) 5.08 6.00 | 6.68000 | 6.65313 | 6.65875 | 6.66000
ST =T 562.46 | 1,028.07 688.62 676.69 | 606.08 599.31
ilj KOSPI 200 64.94 130.02 86.54 84.70 75.30 74.52
:_I;* Hef k) 24,846 25,975 26,336 21,187 | 34,022 36,712
OH EfE(HR) | 37,773 69,919 84,757 79,256 | 78,973 76,517
ECtEA 9,181.4 | 11,484.7 111,103.01 |11,260.61 | 10,789.2 | 10,631.32
if[ H 7 0[225 13,842.2 | 18,934.3 | 16,861.26 |16,399.87 | 16,458.3 | 15,639.95
:_l ;F BDAX 50024 | 69581 | 7,185.56 | 7,395.07 | 6,937.74 | 6,765.04
ZEFTSE100 58826 | 68359 | 661510 | 6,752.50 | 6,403.50 | 6,213.20
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HRI 2 X| &

(1) 434 x=®

T = =% FItE wE AL Bt S FIk=
H = & 8.02 -0.01 2.81
o & -1.51 1.05 8.52
& = 3.46 0.57 -6.15
o 207 &~ Y 10.22 27.08 28.37
vl = = -2.27 11.54 -0.76
T & of & -0.31 2.95 1.98
27 - Sy 5.69 15.38 25.54
FSL - A E[ A 12.87 1.64 17.99
22t - Z3F AMH[AY 18.50 0.32 20.15

- e e EETEY Aol
To= eelojols | ZatololE W | mZoIXE
| = e 6.62 1.68 6.89 11.53
o e 4.86 3.81 457 9.94
& & -2.52 -13.22 19.64 12.19
d 707 & ¢ 13.45 11.00 522 4.18
“ = & 2.38 -3.07 6.32 10.11
= 2 of & -1.72 -4.90 2.55 11.43
25 ¥ MY 5.36 4.21 4.88 9.21
TSk - ARG H[ A 6.13 6.74 2.03 11.45
et 23 MH[AY 11.31 10.33 4.15 12.85
@) oY x| =
7 = FARE | szue | ames | smue | o0
[E oERE
| = e 31.78 92.02 202.27 214.66 42.82
o e 23.80 89.68 204.65 320.23 45.05
& & 3.11 54.41 2,121.49 3,118.12 60.89
d 707 & ¢ 47.04 36.83 198.59 112.58 37.80
“ = & 19.77 136.85 183.66 405.94 42.88
= 2 of & 10.62 77.89 479.05 841.39 48.77
25 ¥ MY 40.69 76.51 197.23 145.74 31.24
TSk - ARG H[ A 43.72 101.45 140.28 128.71 10.94
et 23 MH[AY 4411 107.40 153.19 126.71 18.32
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@ Z3M X|7x
E— Exial sME | EMA siME | omS sME
A = o 0.82 5.83 8.89
o o 1.07 35.85 16.95
2t & 0.39 551 10.54
M o7-7F &~ o 0.33 9.82 15.56
A A & 0.76 4.32 5.99
= A o & 2.33 948 10.77
4. A EMNY 0.73 Q.77 17.18
BEISA ARIMH| A 0.84 K74 8.85
ezt. 251 MH[AY 0.67 6.04 21.40
(5) MAM X[
Huj A T folg Hof [0l E [ jolet ol
=2 _ =1 = _
™ g PR S soie | o =g | v 78
A = o 46.81 23.47 21.95 8.76 8.95
o ) 110.59 33.10 -2.15 2.00 15.79
8 o]
= = 45.98 44.82 16.97 03,67 2.45
M o7-7F &~ o 23.03 47.86 26.90 17.72 11.04
A A & 98.55 22.08 0.58 11.07 -1.04
= A o & 18.05 1.91 —-67.15 6.66 5.06
4. A EMNY 59.59 44.07 8.52 7.96 10.92
HEAL . ARRIMH[ AN . . . .
TS0 FIAH| 99.09 44.63 5.51 10.69 3.25
ezt. 251 MH[AY 50.74 35.70 39.20 4718 1.75
(6) R&D X|E
7 = R&D Of WjZ=oin| g R&D EAF =718
A = o 0.83 -23.95
2 QF o & 0.01 19.11
2t & 0.02 -86.51
M o7-7F &~ o 1.36 -3.54
A A & 0.31 -3.70
= A o & 0.01 —-28.13
=3 =l o 0.02 20.82
4. A EMNY 1.04 5.55
AP M H A Y 1.17 -46.21
7 EF M H] & 0.25 -32.54
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T B 954 964 974 984 9914
& Z7t8 20.44 10.26 1.02 0.71 8.02
MEN  [FEXR BVt 19.01 18.18 1365 17.15 -0.01
EX Bt 19.32 15.01 2239 3.47 2.81
= 2ol E 8.33 6.54 8.25 6.11 6.62
= ZAato|olE 3.60 0.99 -0.34 -1.84 1.68
moiny  ZIERER EO[E 11.03 2.02 -6.80 -136 253
T asu|g/may 5.57 5.84 6.39 8.95 6.89
X2 ®ROIRE 11.68 11.22 1059 13.51 11.53
Ql74H|/of Z o 11.6 11.9 11.40 9.75 9.78
A7 Rt2H|8 25.86 23.97 20.15 24.81 31.78
Fstlg 95.39 91.89 9177 89.75 92.02
ObMA  IXNH|E 21253 236.99 261.13 24245 | 202.27
Exjulg 286.75 317.11 396.25 30302 | 214.66
Xlg o&EE 44.76 47.66 5422 50.83 4282
EX F M 1.00 0.95 0.81 0.78 0.82
BENM oS FHME 5.70 5.50 4.94 493 5.83
el M 8.68 8.59 8.15 8.24 8.89
MU|EXIEE 73.39 64.54 56.40 47.25 46.81
2ozl 26.44 24.36 21.86 21.32 23.47
AARM  {olE HIIiR| BU18 19.18 1.05 465 11.74 21.95
101G 0j &Y =7t 18.03 10.99 15.62 14.25 8.76
191G} ol74H| B8 12.84 12.21 4.30 -2.06 8.95
. 3= o=t ol i oF
= 98 9914 98 98 96
o &Eo deio|E 6.1 6.6 75 25 7.3
o Eof ZAAlo|2E - 18 17 8.1 23 5.1
SolM  X7|XE 2o|ds! - 136 253 16.7 4.1 96
24| 2/0j =Y 9.0 6.9 2 - 22
xeld @HolkE 135 115 - 2.4 -
7| R2d| 24.8 31.8 386 36.6 53.9
FEdH 8 89.8 920 1292 1349 129.4
oIMAM  IHd|E 242 5 202.3 1736 130.9 109.7
L CIE=s 303.0 2147 158.9 1736 85.7
N 50.8 428 265 337 253
EXAF B M 8 0.82 0.82 1.04 1.07 0.78
=AY FEDHERR EFE 1.32 1.29 3.66 229 1.32
MDA 5| M S 8.01 8.97 8.66 9.29 5.38
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